BRX—Ik1 (A4

SHM5E 1A%

SLSATERKE (RELAE) KEARBREEE BHER)

BRoKEFE 8:30

KEHBHER (EXLNEKE 29KF (EK) )
=] X | KB | KB |B E| pH |7IAY| BE | &% |&Etth| & EOZE
E BB | 11> Hy
°C °C E mg/ | mg/ | mg/ | mg/ | mg/ | mg/ |

1 i 1.0 7.2 1.9 7.84

2 i 0.0 6.7 2.3 7.89

3 i 2.0 1.4 1.6 7.87

4 i 0.0 6.6 1.5 7.90

5 i 1.5 6.6 2.4 7.85

6 i 3.5 1.0 1.8 7.76

7 i 2.0 6.7 1.7 1.73

8 i 2.5 1.4 2.1 7.78

9 i 3.0 1.4 2.5 7.74

10 i 1.0 1.7 2.4 1.73

11 = 4.5 1.5 3.2 1.72 56. 4 57 150 9.0 0.14 <0.02
12 i 2.5 7.3 2.8 1.72

13 i 4.0 7.6 2.9 7.76

14 [55] 10.0 8.5 3.4 1.75

15 = 8.0 8.8 15.1 7.70

16 £ 9.5 8.9 3.5 1.7

17 i 5.0 8.8 9.1 7.69

18 £ 5.0 8.4 3.0 1.7

19 i 2.5 8.1 2.9 1.7

20 i 5.0 8.3 11.6 1.7

21 i 5.0 8.1 3.1 1.73

22 £ 1.0 1.8 3.7 1.75

23 = 5.0 1.7 2.9 1.77

24 £ 5.0 8.3 2.1 1.70 51.7 68 161 10.1 0.15 0. 02
25 i -4.0 7.3 5.4 7.81

26 i -3.0 5.5 4.2 7.82

217 = 1.5 6.2 4.3 1.77

28 & 2.0 5.4 6.5 1.75

29 i -2.0 6.3 6.3 7.84

30 & -2.0 6.5 3.4 7.87

31 i 2.5 6.1 3.4 7.80

Ty 2.9 1.4 4.0 1.77 57.0 63 156 9.6 | 0.15 0. 02
4= 10.0 8.9 15.1 7.90 51.7 68 161 10.1 0.15 <0.02
=IE -4.0 5.4 1.5 7.69 56. 4 57 150 9.0 0.14 0. 02




BRX—Ik1 (A4

SHM5F 1A%

SLSATERAKE (REME) KESRERKEE GHER)

BRoKEFE 8:30

KEHBHER (EXLNEKE Kt (GRK )
=] X | KB | KB |B E| pH |7IAY| BE | &% |&Etth| #& EOZE B
E BB | 11> H
°C °C E mg/ | mg/ | mg/ | mg/ | mg/ | mg/ |

1 i 1.0 1.7 0.5 7.68

2 i 0.0 7.6 0.8 7.70

3 i 2.0 1.7 0.5 7.67

4 i 0.0 1.2 0.5 7.66

5 i 1.5 6.9 0.5 7.70

6 i 3.5 6.8 0.5 7.63

7 i 2.0 6.8 0.6 7. 61

8 i 2.5 1.0 0.8 7.56

9 i 3.0 1.4 1.2 7.59

10 i 1.0 7.6 0.9 7.60

11 = 4.5 8.0 1.0 7.56 53.9 57 141 9.2 0.05 <0.02
12 i 2.5 7.3 0.9 7.53

13 i 4.0 1.5 1.1 7.51

14 [55] 10.0 8.5 1.0 7.49

15 = 8.0 9.1 1.5 7.41

16 £ 9.5 9.3 1.0 7.47

17 i 5.0 9.3 0.7 7.52

18 £ 5.0 8.7 1.2 7.46

19 i 2.5 8.2 1.1 7.49

20 i 5.0 8.4 1.2 7.52

21 i 5.0 8.1 1.1 7.50

22 £ 1.0 8.0 1.2 7.46

23 = 5.0 8.1 1.3 7.53

24 £ 5.0 8.5 0.9 7.55 53.2 65 139 9.9 0.05 0. 02
25 i -4.0 7.3 1.4 7.56

26 i -3.0 5.6 1.6 1.57

217 = 1.5 5.5 1.2 7.48

28 & 2.0 5.6 1.1 7.52

29 i -2.0 5.9 1.2 7.50

30 & -2.0 6.1 0.8 7.53

31 i 2.5 6.2 0.6 7.59

Ty 2.9 1.5 1.0 7.55 53.5 61 140 9.6 | 0.05 0. 02
4= 10.0 9.3 1.6 1.70 53.9 65 141 9.9 0.05 <0.02
=IE -4.0 5.5 0.5 7.4 53.2 57 139 9.2 0.05 0. 02




